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( D )5. A story book has 250 pages. Dora reads 15 pages in the morning
and 20 pages in the afternoon from Monday to Friday. She reads 10
pages in the morning and 15 pages in the afternoon on Saturday and
rests on Sunday. If she starts to read on Wednesday at 2nd in June,
what date can she finish reading it?
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(A )I10. In the rectangle area as left picture, the width
of the road are 8 meter and the rest of them are
lawn. How much the area of the lawn?
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(A )15.David, John and Joy have some money each. They take out all of
their money and average it. As a result, David says, my money is
become three times. John says, I have excess of $40. Joy says, |
shortage of a half. How much is John’s money more than Davids’ at
first? (A)$40 (B) $60 (C) $80 (D) $120
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(B )20. There are three kind of light, red , blue and green in the building.

Red light shines once each 35 minutes. Blue light shines once each

40 minutes. Green light shines once each 25 minutes. If the three

lights shins once at 7 o’clock in the evening, which one light does

it first shin after 8:55 in the evening?
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2. AABC is an equilateral triangle (i = 4 3))and the side is 60 m. Tim,

Amy and Ann run counterclockwise (if FF 4+ = = )from vertex A, B, C each.
The speed of Tim, Amy and Ann is 2 m/sec, 3 m/sec and 4 m/sec each.

@ Tim, Amy and Ann starts to run at the same time. Tim
How much seconds do they spend at least and be back
to the start concurrently( /& ! % 2t)?
@ Where do they meet at first time? How much seconds Ann
do they spend to meet at least? B C
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